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KE%

ZR YR Rk

No. B LT ag | & (mm) e L S P Rl R ke M -
L H D kg)  |(m/%) RE | RE | 2R | &k
1 |FAEZTFLYRRY a3y T4 k2 1 |25500] 300 | 48.6 | BEHF T LBES 900/ 10 BEANL | O O
2 | FRE=FLYRRYIarT4 b1 1 |25500| 300 | 48.6 | EBEF F LBE 900 10 BEANL | O @)
3 |RIEARHNEERMEE 3 1 HBE EE) R 7 LB 3 INV O
4 |BIEBERHAEEARREE2 1 BE EE) R 7 LB
5 |RIEARHNEERMREE 1 1 HE EE) R 7 LB
6 |EF - FTFE/OEL=-T7LASHEO/ KL 2 | 3200 ®BHE | 600 BEETR 3 BEAN
7 | 7Rt=F7L7Y v (PBL - PAL) 1 |26,000] 3,000 | 600 | E&K S L& 900/ 10 BEAN | O
8 |#iE 1 1 |25500| 486 | 48.6 | BEIF 5 LBE 1000/ 0~90 INV O
9 |MBiR?2 1 |25500| 48.6 | 48.6 | BEHF 5 L& 1000/ 0~90 INV O
10 |#i&3 1 |25500| 486 | 48.6 | BEF 5 L&E 1000/ 0~90 INV O
11 |BSERs 1 |25500] 300 | 48.6 | BEHF T LBES 900 0~90 INV O
12 [EfiNkr1 1 [25500] 300 | 48.6 | BEF 5 LBE 900 0~90 INV O
13 |EXE 1 FENRIEA
14 |B4IZ 1 |25500] 300 | 48.6 | BEF 5 LBE 900| 0~90 INV @) O O
15 |EffiN k2 1 19,200 300 | 486 | BEHKF F L& 900 0~90 INV @) @) O
16.& [Ef by 2EEN MY (EF) 1 2,600| 300 | 48.6 | BE) K S LEERR 130 0~90 INV @) O @)
16F |EMfAN LY 2ERA LY (TF) 1 2,600| 300 | 48.6 | BEF S LB 130 0~90 INV @) @) O
17 |54 7Y v 1(BL1-AL) 1 18,800 BE N F LAIE 1500/ 10 BEANL | O @)
18L& [BL1ZERN LY (EF) 1 2,900| 300 | 48.6 | BEF S LB 100| 10 INV @) O O
18T |BL1ZERN k> (FF) 1 2,900| 300 | 48.6 | BE) K S LEERR 100| 10 INV @) O @)
19k |ALZER AN k> (EF) 1 3,300| 300 | 48.6 | BE)F S LB 100| 10 INV @) O O
19F [ALEERN b > (FF) 1 3,300| 300 | 48.6 | BE) K S LEERR 100| 10 INV @) O @)
20 |=EffiNb>3 1 [17,000| 300 | 48.6 | BEHF 5 LBER 600| 0~90 INV @) @) @)
21F |EMAN P Y 3ERA LY (EF) 1 3,700| 300 | 48.6 | BE)F S LEERR 130 0~90 INV @) O O
217 |EM/AN b 3ERA LY (TF) 1 3,700| 300 | 486 | EBHFHF 5 LA 130/ 0~90 INV @) O O
22 |EffpNbv4 1 |16,800| 300 | 48.6 | BEHF 5 L& 600| 0~90 INV @) O @)
23L& |EMN PV AERAL Y (EF) 1 4,000| 300 | 48.6 | BEHF 5 LBER 150 0~90 INV @) @) @)
23F |EMN PV AERA Y (FTF) 1 4,000| 300 | 48.6 | BE)F S LEERR 150 0~90 INV @) O O
24 |EMINEV 5 1 ]16,200| 300 | 48.6 | BEHF 5 LBER 600| 0~90 INV @) @) @)
25L& |EMN PV BERAN Y (EF) 1 4,200| 300 | 48.6 | BE)F S LERR 150 0~90 INV @) O O
25 |EMN P BERNAL Y (FF) 1 4,200 300 | 48.6 | BEHF 5 LBER 150 0~90 INV @) @) @)
26 |EffIANbR6 1 |15600] 300 | 48.6 | BEHF 5 L& 900 0~90 INV @) O O
27k |EMAN Y BERNA LY (EF) 1 4,500| 300 | 48.6 | BEHF 5 LBER 160| 0~90 INV @) @) @)
2TF |EMAN Y 6 RN (TF) 1 4,500| 300 | 48.6 | BE)F S LEERR 160 0~90 INV @) O O
28 |#BirR 1 |15,400| 300 | 48.6 | BEHF T LB 550/ 0~90 INV @) @) @)
29 |BITRIER /N b (EF) 1 4,600| 300 | 48.6 | BE)F S LEERR 170 0~90 INV @) O O
29T |BITRERN MY (FF) 1 4,600 300 | 48.6 | BEHF 5 LBER 170| 0~90 INV @) @) @)
30 |—x=1 1 |25500] 300 | 48.6 | BEHF S L& 900| 0~90 INV @) O O
31 [BlEIEL 1 [25500] 300 | 48.6 | BEHF 5 LBERR 900 0~90 INV @) @) O BlEL—L+TvRyFNnrH—
32 |Efp b7 1 |255000 300 | 486 | BEHF S L& 900 0~90 INV @) O @)
33 |EffiNb8 1 [25500] 300 | 48.6 | BEHF 5 LBER 900 0~90 INV @) @) @)
34 |54 K7 vP2(BL2-AL) 1 23,200 BE) RS LERR 1500/ 10 BEANL | O O B
35 |EfINb>9 1 [22,000] 300 | 48.6 | BEHF 5 LBER 900 0~90 INV @) @) @)
36 |—x¥2 1 22,0000 300 | 486 | BEHF S L& 900 0~90 INV @) O O
37 |3181%2 1 [22,000] 300 | 48.6 | BEHF 5 LBER 900 0~90 INV @) @) O BlEL—L+Tv Ry FNYyH—
38 |R—4—54 +3(LF -dhh-TF) 1 [22,000] 300 | 48.6 | BEF J L&E 500/ 10 BAN | O O
39 |10 1 [22,000] 300 | 48.6 | BEHF 5 LBER 900 0~90 INV @) @) @)
40 |ZEffIN b 11 1 22,0000 300 | 486 | BEHF S L& 900 0~90 INV @) O O
41 | B 12 1 [22,000] 300 | 48.6 | BEHF 5 LBER 900 0~90 INV @) @) @)
42 |ZEffiN 13 1 22,0000 300 | 486 | BEHF S L& 900 0~90 INV @) O O
43 |—X%F3 1 [22,000] 300 | 48.6 | BEHF 5 LBER 900 0~90 INV @) @) @)
44 |54 +71 v 3(BL4-AL) 1 23,200 BE S LERR 1500/ 10 BEANL | O O B
45 |—XF 4 1 [22,000] 300 | 48.6 | BEHF 5 LBER 900 0~90 INV @) @) @)
46 |B|EIE3 1 22,0000 300 | 486 | BEHF S L& 900 0~90 INV @) O O BlEL—L+T v Ry FNyH—
47 |R—&Z—5 4 F5(LF thk-FF) 1 [22,000] 300 | 48.6 | BEHF 5 LBER 500/ 10 BEAN | O @)
48 |ZEffiN k14 1 22,0000 300 | 486 | BEHF S L& 900 0~90 INV @) O @)
49 |15 1 [22,000] 300 | 48.6 | BEHF 5 LBER 900 0~90 INV @) @) @)
50 |Effi/N k16 1 22,0000 300 | 486 | BEHF S L& 900 0~90 INV @) O @)
51 |/ k17 1 [22,000] 300 | 48.6 | BEHF 5 LBER 900 0~90 INV @) @) @)
52 |ZEffi/N k18 1 22,0000 300 | 486 | BEHF S L& 900 0~90 INV @) O O
53 |/ k19 1 [22,000] 300 | 48.6 | BEHF 5 LBER 900 0~90 INV @) @) @)
54 | T/ k20 1 |22,0000 300 | 486 | BEHF S L& 900| 0~90 INV @) O @)
55 |/ k21 1 [22,000] 300 | 48.6 | BEHF 5 LBER 900 0~90 INV @) @) @)
56 |ZEfN k22 1 [22,000] 300 | 48.6 | BEHF T L&BER 900 0~90 INV @) O @)
57 |—x=5 1 [22,000] 300 | 48.6 | BEHF S LBER 900 0~90 INV @) @) @)
58 |31E1%4 1 |22,000] 300 | 48.6 | BEHF T LBE 900 0~90 INV @) O O BlIEIL—L+T Ry FNVyH—
59 |R—%—34 k6 1 [22,000] 300 | 48.6 | BEHF 5 LBER 500/ 10 BEAN | O @)
60 |ZEfT/N k23 1 22,0000 300 | 486 | BEHF S L& 900 0~90 INV @) O O
61 [T/ k24 1 [22,000] 300 | 48.6 | BEHF 5 LBER 900 0~90 INV @) @) @)
62 |7/ 25 1 22,0000 300 | 486 | BEHF S L& 900 0~90 INV @) O O
63 |/ k26 1 [22,000] 300 | 48.6 | BEHF 5 LBER 900 0~90 INV @) @) @)
64 |27 1 22,0000 300 | 486 | BEHF S L& 900 0~90 INV @) O O
65 |—x¥6 1 [22,000] 300 | 48.6 | BEHF 5 LBER 900 0~90 INV @) @) @)
66 |54 ~7U w4 (BLT-AL) 1 23,200 BE) K 5 LEIE 1500 10 BEAN | O O EE
67 |/ k28 1 |22,000( 300 | 486 | EBEF T L&EE= 900 0~90 INV @) @) @)
68 |/ k29 1 |22,0000 300 | 486 | BEHF 5 L& 900| 0~90 INV @) @) O
69 |7/ k30 1 |22,000] 300 | 486 | EBEF T L&EE= 900 0~90 INV @) @) @)
70 |EMA R 31 1 |22,0000 300 | 486 | BEHF S L& 900| 0~90 INV @) @) O
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No. EEL L J& (mm) N L el B S PPN B R e A e
L H D (kg) | (m/%) RE | RE | TR | B

71 [ZEM/AN 32 1 22,0001 300 48.6 | BE) KN 7 LEERA 900 0~90 INV O O O
72 | ZEMIN K33 1 22,000| 300 48.6 | B K 7 LA 900| 0~90 INV O O O
73 | =N 34 1 22,0001 300 48.6 | BE) K 7 LEERA 900 0~90 INV O O O
T4 | ZEMIAN K35 1 22,000| 300 48.6 | B K 7 LERR 900| 0~90 INV O O O
75 |ZEMIN K36 1 22,0001 300 48.6 | BE) KN 7 LEERA 900 0~90 INV O O O
76 | ZEMTN R 3T 1 22,000] 300 48.6 | B K 7 LERR 900| 0~90 INV O O O
77 |—XF7 1 22,0001 300 48.6 | BE) KN 7 LEEA 900 0~90 INV O O O
78 |h—X—F4 L8 1 22,000] 300 48.6 | B K 7 LAERR 500 10 BEAN O O
79 |=EMIN 38 1 22,000] 300 48.6 | BE) K 7 LEEA 900 0~90 INV O O O
80 |ZEffi/N k39 1 22,000| 300 48.6 | B K 7 LEARR 900| 0~90 INV O O O
81 |ZEMfi/N k40 1 22,000] 300 48.6 | BE) KN 7 LEEA 900 0~90 INV O O O
82 |ZEffi/N k4l 1 22,000| 300 48.6 | B K 7 LAERR 900| 0~90 INV O O O
83 |\ k42 1 22,0001 300 48.6 | BE) K 7 LEEA 900 0~90 INV O O O
84 | /N k43 1 22,000| 300 48.6 | B KN 7 LEARR 900| 0~90 INV O O O
85 |/ k44 1 22,0001 300 48.6 | BE) K 7 LEEA 900 0~90 INV O O O
86 |ZEffi/N k45 1 22,000| 300 48.6 | B K 7 LEARR 900| 0~90 INV O O O
87 |—XF8 1 22,0001 300 48.6 | BE) K 7 LEEA 900 0~90 INV O O O
88 | K7 v/ X—HKUY Y EFA b 1 22,000| 300 48.6 | B K 7 LEARR 500 10 BEAN O O
89 |RENFV1 1 22,000/ 300 48.6 | BE) K 7 LEEA 900 10 BEAN O
90 |[RENFV2 1 22,000| 300 48.6 | B K 7 LARR 900 10 BEAN O
91 |[RENbFV3 1 22,000/ 300 48.6 | BE) K 7 LEEA 900 10 BEAN O
92 |[REN K4 1 22,000| 300 48.6 | B KN 7 LEARR 900 10 BEAN O
93 |[RENbLV5 1 22,0001 300 48.6 | BE) K 7 LEEA 900 10 BEAN O
94 |[RENFV6 1 22,000| 300 48.6 | B K 7 LERR 900 10 BEAN O
95 |RENKVT 1 22,000] 300 48.6 | BE) K 7 LEEA 900 10 BEAN O
96 |LFaT: FTFRIHARY>a3 VT4 2 4,500 300 48.6 | BE) K 7 LEE 150 10 BEAN O
97 |LFE - FTFRHYIRv>avI4t 2 4,900| 300 48.6 | BE) K 7 LEEA 150 10 BEAN O
98 | K& 1 PENER 48.6 48.6 | BE) K 7 LEE 900| 0~90 INV O O O
99 | K28 (£F) (TF) 2 8,500 | 48.6 48.6 | BE) K 7 LEEA 400 0~90 INV O O O
100 | Kk —XF 1 PENER 48.6 48.6 | BE) K 7 LEE 900| 0~90 INV O O O
101 | Rk —xX=F (£EF) (FF) 2 8,500 | 48.6 48.6 | BE) K 7 LEEA 900 0~90 INV O O O
102 | KRR Y > by o 1 PENER 48.6 48.6 | BE) K T LEE 900| 0~90 INV O O O
103 | KRYUY>Y by o (EF) (FF) 2 8,500 | 48.6 48.6 | BE) K 7 LA 4001 0~90 INV O O O
104 |[REN MV EF 10 11,500| 48.6 48.6 | BE) K 7 LEE 500 10 BEAN O
105 [REN MV TFF 10 11,500 48.6 48.6 | BE) K 7 LEEA 500 10 BEAN O
106 |<EHEL > | mm |#arr| mE | mmroLER=| BE | 3 | EAn | O

I o \ SANE (ZRAERE LG
107 |BEREE [—8] (bF) (TF) 2 | - | - | - |m®mrsssmmst| 2000 10 | mAR| O A Lo
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